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(BES1 T SEHT) T
H=4. 82 /}”(//////
FH=487. 17 [ﬁ 0.0 2
=
©
o
NI
<| ¥| 8
<
C A 9.20 A 1.80
H 9.20 1 1.80
B®
ey | S3| A
o
B
7.00 Foh—EF 10. 00 8
S4| A
B
R1B| A
B
No. 64
FH=486. 31
+ 0.06
Foh—xKTOvIEL 4.00
(BARS4 7 ZEBHEI) 2.00 2.00
e
H=3. 96
FH=486. 31 [B 20.0% | 0.0
|-| =
" C A 5.10 A 0.50
s 0.90 7 5.10 1 0.50
B®
FUh—E S3| A - 2 _
&
B 5.10 3 -
13.00 & -
S4| A -
B -
R1B| A -
B —

10. 40

13.80

L=12.20
+10. 00
FH=490. 17
- 0.87
4.00
2.00 L 2.00
+0, +0. 0%
C A 11.90 | B A 3.50
B 11.90 1 3.50
B
S3| A - 2 -
1S
B 11.90 3 -

10. 00

No. 66
FH=489. 42
- 1.30

4.10

10. 00

(CAL=8. 50)

CAL = 16.00 -

C A 17.90 || B
B 17.90
B
S3| A 4.10
&
B 13.80
S41 A -
B -
R1B| A -
B -
3.60+3. 20
2

R6 ({XBAEP)

+10. 00
FH=488. 67
- 2,40

16. 00

10. 00

x 6.91 +3.09 = 8.50

12.20

C A 35.50 || B -
B 35. 50 -
B
S3| A 22.90 -
&
B 12. 60 -

s4| A
(CAL=7.70) B
RIB| A
B
3.70+3. 60
CAL = 16.00 - 2 x 10.00 = 7.70
16.00 A
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FNEHEERSEE
LR BB RARAT X BXRA (B2l A i B i 3R 41 )
RERX S HAREEE WMARS | 258 - 2 #h| FRELEE 20 km/h
F E3 SH6EE BATER BERER
£ L7 BEY 1 Edo 1 &
e 1T ih BEREE HEZ FHE =R #HA
i R 1:100
EEE ®EtE
HmEmES 19-7
3EaLH Y — FERETI-T 35V ) — MERET $=1:100
(No. 60 fF3k) GW_L_I (b_R)
IEmEE
17.00
6. 50 10. 50
4.50 8.00 4.50
2.79 p.42  1.29 2.00 6. 00 1.29 2.79
1.00 0.42 4.58
N
AN
No. 60 +2.00
FH=477. 60 , , FH=477. 60
I U T
L Ykt A= | |
&
— .[ j ~
I |
_‘"‘*‘*‘*-//’//F‘——-E_-t:Z::::=-»4“"/’//
\/ —_—
DL=475. 00m Fli=475. 10 - -
FH=474. 60
H=2.50 H=3. 00
0.30 5.00 8.70 0.30
5.30 9.00
1.20 14.30 1.50
CAL 2.70 6.00 2.40 5.30 2.20
A D
BA1L 1.50 6.00 2.40 5.30 1.80
A B ¢ D
BAL 14.50
* TEEIKX6EHKERFMTFERSE
ABr T BEfTE No. 60k E No. 60+2. O0KFE
H=2. 50 H=3. 00 H=3. 00
CA = 0.00S3 FH=477. 60 FH=477. 60 FH=477. 60
CA = 0.00R 1B
BA1 = 0.00

CA
CA
BA
BA1

e

0.36

2.50

(0.78)

2.00

0.50

3.60S3 CA = 0.00 S3 CA = 1.40 S3
1.50 R 18 CA = 2.50R 18 CA = 1.20 R 18
0.30 BA = 0.30 BA = 0.30
1.60 BA1 = 0.50 BA1 = 0.30
IR#E (CA) B EE5THE R R L BA) BEETER
X 7 WrmEmiE Z ® ErmEmiE Z ® & X & WrmiE T & "® 1#E
AT 0.00 0.00 ABfTE 0.00
BEfTE 1.50 2.70 2.03 3.60 2.70 4.86 BER 1.60 1.50 1.20
No. 60 2.50 6. 00 12.00 0.00 6. 00 10. 80 No. 60 0.50 6. 00 6. 30
No. 60 No. 60
+2.00 1.20 2. 40 4.44 1. 40 2. 40 1.68 +2.00 0.30 2. 40 0.96
Clrm 4.10 5.30 14. 05 0.00 5.30 3.1 CHrm 0.80 5.30 2.92
Défrmn 0.00 2.20 4.51 DEfrmn 0.00 1.80 0.72
H 37.03 m3 21.05 m3 5 12.10 m3
5 & T8 #®EIB i%£3% RIE0. 30m T8 #xxYL &35 KYE0. 30m

HEK

"0.70

1.32

BA1

A

0.36

3.00

CHfrm

H=3.00
FH=471. 60

0.00 S3
4. 10 R 1B
0.30
0.80

1.20

1.26

ZRRETE

B

\N—/

1.26

A=1. 59m2

CA
BA1

D mE

0.00 R 1B
0.00

ZAVI ) — M ERTIHRESHE

2 #

®

B &

avyl—+k

®

iR f& # B

5B H

®

= 7 F R

(#E1B)

R & (CA)

(BA1B)

R 1 (CA)

(%Y 1)

#BERL (BA

(BT

EBERL (BAD

(E@)

(6.50+5.30) +2%2.00% 2. 011+(5. 30+5.00) ~2%0.50% 2

(10. 50+9. 00) +2 x 2. 50 x 2. 020+ (9. 00+8. 70) +2 x 0. 50 x 2

(0. 40+0. 90) +2 x 2. 50

1.59x2.020

2.00-6x {(2x5.30+6.50) x 0. 70+ (5. 30+2 x 6. 50) x 0. 40} + (5. 30+5. 00) 2 x 0. 50 x 1. 00

2.50-6x {(2x9.00+10.50) x0.90+(9. 00+2 x 10. 50) x 0. 40} +(9. 00+8. 70) +2x 0. 50 x 1. 20

1.59x0. 68

(0. 40+0. 45) ~2x0.36 % 0. 42

(0.40+0.47) +~2x0.36%0. 42

(0. 40+0. 78) +2 % 2. 50

(RImER L Y)

(RImER L Y)

(0. 40+0. 70) ~2x 2. 33+1.00 x 0. 58+1. 00 x 5. 00

(0.40+0.90) ~2x2.92+1.20x 0. 58+1.20x 8. 70

(REtELY)

(REtELY)

0.30x14.50 =

(REtELY)

37.03

21.05

4.35

12.10

m3

m3

m3

m3

28. 88

58. 09

1.63

3. 21

(_

85.39

1.48

6. 50

10. 50

m2

m2

9. 01

21.00
1.08 (-
0.06 (-

0.07 (-

17.00

6. 86

13.03

=}

19. 89

m2

28.80 m3

—RRAEEEA
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CA =
CA =
BA =
BA1 =

3.70 S 3
0.00R 18
0.50
0.80

CA =
CA =
BA =
BA1 =

0.20S3
3.10 R 18
0.40
0.80

CA =
CA =
BA =
BA1 =

4.50 S3
0.00R 1B
0.60
0.90

R PACAROAOAROA

@
=

0.40 S3
4.90 R 18
0.70
1.00

BA1 =

0.00 Ss
3.10R B
0.60
0.90

CA = 3.90 R B
BA = 0. 60
BA1 = 0.80

BA1

5.80 R 18
0.30
2.50

BNEHEERKEE
B & A BB RARAT X BxA (BB ES A E)
7| HMEEE | SRS |28 -2 | BETEE 20 km/h
E SH6EE BATER BEREE
g7 BEY R 2 Eo 1 & AR H ) — hEERET $=1:100
ih EREE HEXH FHHEH =R A GW-L-T (b-R)
GW-L-1 (b-S)
R BB
EEE %R E
MEES | 9.8 FEE H—FLU—ILEBTIEET X S=1:20
IE @& Il &
10.12 ‘ 6.00 L 7.22 R 3.61 ‘ 3.62 9.81
A5 ) — MERET 21 T T 0.18 0.40
(No. 60% f35) 32,50 0.1 | 018 0.11
14.00 18.50
Gl-L1 (b-S) GH-L—1 (b-R) e — _é ——
+10. 00 8.00 6.00 5.00 5.00 8.50 B T P b — b A5 E114. 3mm
s | ® ® © ® ===
No. 61 2.79 0.58  1.63 _- — T = —— - A
FH=479. 09 ‘ S L&
+12. 00 No. 59 ‘ L EREKAR S L=1. 498m
F/yt%_ N FH=478. 07 FH=478. 02 ‘ L=1.498m 06
DL=480. 00m +2. 00 +15. 00 +10. 00 | Jg/
FH=477.16 FH=477. 04 FH=477. 24 ‘ / =
o PN == No. 60 T T | 2 1IN
= e% ) — — - \t — FH=477.08 i ° i Hm“ 1'1:
688 o— ' o — i E—— i —— ‘\7 1
3@/ ~|_ mdEmE ° — :
> ‘ -
s 0.20 0.30 0.25 0.30 0.20 s
H=2. 00 e - 1.25 TERELAH T ER kAR
o L=1.498m L=1.498m
DL=475. 00m rw
N/ . M=k (1. 0FHAHY)
;—/o = S = = =
=1 ® R | A%| BuEs —AUBE X
. D13 1, 498mm 2 0. 995kgf/m 1.491kgf 2.982kgf
H=4.50 3.50+2=1.75=2[g] ! S
4.00=2=2 (RiZExEE %) \
0.14 6.46 (RIBIEEE ) L EREk AR BB & 5 NEEFA T ER 8 (F13mm) &35,
L=1. 498m L=1.498m
1.12 2.275
0.28 33
1.40 6. 60 6.00 5.00 5.00 5.90 2.60
CAL, BA1L 1.50 5. 60 6.00 7.20 1.50 3.60 4.50 2.60
D c B A
BAL 6. 00 6. 00 7.20 1.50 3.60 4.80
c No. 61 +12.00 +2.00 No. 60 +15.00 B
Al mE A&
GW-L-1 (b-S) GW-L-1 (b-R) B #th & 3
H=2. 00 H=3. 50 H=4. 50 H=4. 00 (D-E) HkE PR E S
0.30 0.40 0.30  0.40 0.35 0.40 0.35  0.40
10,24 0.30 0.60 0.30 . 1.00 | 0.30 0.70. Q.30
: D 1B I} |
ol 2 o B &f S, 5| = si__os | mf ° —T
21T ot f/_ sy 8 8 8 S g N 8 @ %
‘E 0.64 S 8l “ 8| < E - ° 0.78 = 2 - N W <
< [7 0.70) < Yl g ”"; 2 sl g ' g = i Sl g — h——
e A = S <| o 1.00 g “ 8 S <~ 1.04
0.10 ‘ 0.94 || o010 & - it A ¢ ° 8 g : — A=1. 59m2
R - < - = - o 125 = °
— S 1.40 | ° E -
0.10 1.38 0.10 & Z B
1.58 °
DEfrmn CHrm No. 61 mE No. 60+12. O0B = No. 60+2. 00BT No. 60T E No. 59+15. 00 & BE¥frmE K{ Al
_ VeTHE — (No. 50+10. 00K ¢ FA) /
H=2. 00 H=2. 00 } 3 8% H=3. 50 |‘B 0% H=4. 50 w X H=4. 50 |‘B S H=4.00 |‘B S hed 00 w S o
CA = 0.00S 3 FH=479. 09 — FH=478. 07 FH=477.16 FH=477.08 FH=477. 04 CA = 0.00 R 18
BAT =  0.00 I I I I BAl = 0.0

—RAFAEA ERBRBLUKERS




BHE | pameemiIx | FEE | T DOIRRES
HERS | ZFHEEE | RKIIRSD | 218 -2 k| FHEHERE 20 km/h
£ K BH6EE BT ER BERER A2 Uh ) — NERTHEE
% FR BEY 2 Er 2 B 5 "
17 e RRER FRH O FR R » (8.50+6. 23) +2 x 3. 50 x 2. 020+ (6. 23+5. 90) +2x 0. 50 x 2 = 58. 14
w R i S T 5.00x 4. 00 % 2. 031+5. 00 x 0. 50 x 2 - 45. 62
REES | 19-9 © 5.00x 3. 00 2. 020+5. 00 x 0. 50 x 2 - 35.30
(0 6.00 % 2. 90 x 2. 020+5. 00 X 0. 60 x 2 - 41.15
4820 ) — MEETI-2 ® (8.00+6. 88) -2 x 1. 60 x 2. 011+ (6. 88+6. 60) +2x 0. 40 x 2 - 29.33
(No. 60 {if)
B th B
(0. 40+1. 40) =2 x 4.00 - 3.60
(0. 40+1. 28) =2 x 3. 50 - 2.94
(0. 40+0. 98) +2x 2. 90+1. 38 X 0. 60 - 2.83
(D-E) (0. 40+0. 80) 2 x 2. 00 = 1.20
1.59 % 2. 031 - 3.23 (-
: 216.88 m2
avou—+
® 3.50+6 % { (2 6. 23+8.50) x 1. 10+ (6. 23+2 x 8. 50) x 0. 40} + (6. 23+5. 90) +2x 0. 50 x 1. 45
{(0. 40+1. 40) +2x 4. 00+1. 75 x 0. 50} x 5. 00
© {(0. 40+1.00) +2x 3. 00+1. 30 x 0. 50} x 5. 00
EON {(0. 40+0. 98) +2x 2. 90+1. 38 x 0. 60} x 6. 00
® 1,506 [(26.88+8.00) x 0. 64+ (6. 88+2 x 8. 00) x 0. 40} + (6. 88+6. 60) +2 x 0. 40 x 0. 94
1.59x 1.04
K4 7
(¢ -5cm)
® 0. 62 x 4+0. 80 x 4+0. 98 x 4 - 9. 60
0.55 x 3+0. 78 x 4+1. 00 x 3+1. 25 x 4 - 12.77
© 0. 52 % 4+0. 70 x 3+0. 88 x 4 = 7.70
(D 0. 52 % 3+0. 70 x 4+0. 88 x 3 = 7.00
(® 0.57x5 = 2.85
: 39.92 m
ERER
(5~15cm)
(0 6.00 1. 58 = 9.48
(B (6.60+6. 46) +2x 1. 14 - 7.44
5 16.92 m2
EAEE
1ON 6. 23 x 2. 60 x 0. 30 = 4.86
5.00x 3. 10 0. 30 = 4. 65
© 5.00x 2. 10x 0. 30 = 3.15
(0 6.00x 2. 10x 0. 30 = 3.78
(B 6. 88 x 0. 80 x 0. 30 = 1.65
5 18.09 m3
R HH B L 44
» (0. 30+2. 60+0. 30) x 6. 23+0. 30 x 2. 60 = 20.72
(0. 30+3. 10+0. 30) x 5. 00 = 18.50
© (0. 30+2. 10+0. 30) x 5. 00 = 13.50
ION (0. 30+2. 10+0. 30) x 6. 00 = 16.20
® (0. 30+0. 80+0. 30) x 6. 88+0. 30 x 0. 80 - 9. 87
5 78.79 m2

i #E # B
(0. 40+1. 20) +2 x 4. 00 - 3.20
(0.40+1.10) +2x 3. 50 - 2.63
(0. 40+1.00) -2 x 3. 00+1. 30 X 0. 50 - 2.75
(0. 40+0. 70) +2x 2. 00 - .10
8 9.68 m2
EHHEAHN
IOR 8.50 % 2 = 17.00
5. 00 % 2 = 10. 00
(© (RBEEELY) = 5. 00
(D) (RBEEELY) = 6.00
(B (RBEEELY) = 8. 00
8 46.00 m
23.21 =B E R
(& 1B)
22.38 » (0.40+1.10) =2 x 4. 33+1. 45x 0. 62+1. 45 x 5. 90 = 12.70
13.75 1. 75x 5. 00 = 8.75
16.97 © 1.30x5. 00 = 6. 50
830 8 27.95 m2
1.65 (-
83.02 m3 EEEE
(Y +)
() 1. 58 x 6. 00 = 9.48
(©® 1. 14 6. 46+ (0. 40+0. 64) +-2x 2. 08+0. 94 x 0. 52 = 8.93
8 18.41 m2
A—FL—LL
R BT 32.50-+2=16. 25=16. 0K
(D~13mm)
16.0x 2. 982 = 4171 kef
R #E (CA) (REFELY) 83.59 m3
(85 1B)
PR 4R (CA) (REHELY) 45.74 3
(%Y 1)
5 L (BN (REHELY) 15.68 m3
(RiTE)
5 L (BAI) (REHELY) 32.19 3
(Bm)
RHE (CA) EFtHER HBERL BABEFER R L BAN#EFER
X 7 W E AR E * & B E AR E R * & X o B E AR E & * & X % T E AR E * &
AW E 0.00 BY & 0.30 A& 0.00
No. 59
B & 5. 80 2.60 7.54 +15.00 0.60 4.80 2.16 B & 2.50 2.60 3.25
No. 59 No. 59
+15.00 3.90 4.50 21.83 No. 60 0.60 3.60 2.16 +15.00 0.80 4.50 7.43
No. 60
No. 60 3.10 3.60 12. 60 0.00 +2.00 0.70 1.50 0.98 No. 60 0.90 3.60 3.06
No. 60 No. 60 No. 60
+2.00 4.90 1.50 6.00 0.40 1.50 0.30 +12.00 0.60 7.20 4.68 +2.00 1.00 1.50 1.43
No. 60 No. 60
+12.00 0.00 7.20 17.64 4.50 7.20 17.64 No. 61 0.40 6.00 3.00 +12.00 0.90 7.20 6.84
No. 61 3.10 6.00 9.30 0.20 6.00 14.10 CHi & 0.50 6.00 2.70 No. 61 0.80 6.00 5.10
CHi & 0.00 5. 60 8.68 3.70 5. 60 10.92 5 15.68 m3 CHi E 0.80 5. 60 4.48
DI & 0.00 1.50 2.78 DI E 0.00 1.50 0. 60
: 83.59 m3 45.74 n3 £ 32.19 n3
= T ®EIB %35 IE0. 30m T ME YL %35 RIEO. 30
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52 HRMEEERRER

B 2 AP RERAL R (BB BRER A E)

MERS | HREEE

BAKS | 268 .0 $| WEHEE | 20 ko

g E SHE6EE REATEK BERER
& W BiE Y 1 E# 1 &
M 4T #h BERER HER A FR R
e R 1:100
BEEE & At E

HE#ES 19-10

5529 — FEEEET 11
(No. 62+8. 007% f1f5)

55ary 1) — bEERET

GW-1.5-T 5< (b-S)

No. 63
= EmX
11.00
\ 4.91 L 6.09
4.72 E 5.90
\ e No. 62
DL=475. 00m FH=475. 00
g w2
> ° w
FH=470. 50 /
A A A A A
o Y
v H=4. 50 S
3.80+2=1.90=2[q]
(RBHER
0/12 5.36 0/12
0.42 5.60 0.42
2.28 6.44 2.28
CAL 5.10 1.20 4.20 3.20
D A
BA1L 2.80 1.20 4.20 2.80
D c +8.00 B
_BAL 6. 40
* FERIXTESHKERFATERSE
DIt m CHfr No. 62+8. O0BRTE
H=4. 50 H=4. 50
FH=475. 00 FH=475. 00

BA1=0.00

AvATa A %a e

CA=1470S 3
BA = 0.80
BA1=2.90

& PR

CA=6.30S 3
BA = 0.80
BA1= 1.00

{8

H=4. 50

w
<

3.80

1.30

00

10.70

Bt

H=4.50
FH=475. 00

] <
8
o]
= S
B azazazazaz|
0.10 2.46 0.10 &
o
2.66
Al E
CA=0.00S

*S%&J?\%&J?‘S%H
3.00

\

T

CA =17.20 S
BA = 0.80
BA1= 3.40

3

BA1= 0.00

3

SbEa ) — bk

BTITH=EHE

)

71.91

44.05

10. 37

m2

Eid B (11.00+6. 44) =2 x 3.80x 2. 097+ (6. 44+5. 60) =2 x0.70x 2
avyl)—Fk 3.80+6x {(2x11.00+6.44) x2. 11+ (11.00+2 x 6. 44) x 0. 40}
(6.44+5.60) =2x0.70x2.46
(0. 40+0.64) =2x0.54x0. 38
KikNA T 0.99x5+1.44x4+1.89%x5
(d-5cm)
EBHER (5.60+5.36) =2 x2.66
(5~15¢cm)
ERAEER 6.44 % 3.00x0. 30
0% 1 5 Lk #4 (0. 30+3. 00+0. 30) x 6. 44+0.30x3.00x 2
B 58 #H (11.00+6. 44) ~2x2
HmEEIE {(0.40+2. 11) =2 x 4. 43+2. 46 x 0. 82} x 2+2. 66 x 5. 36
(%Y *)
K 12 (CA) (RETELY) 126.96 m3
(Y *)
#HEL (BA) 0.80x6.40 = 5,12 m3
(RTHE)
HE L (BA1) (RETE&XY) 20.40 m3
(Fm)
FR#E (CA) L #EETER HEL BAl) MEFER
X % WrEiE T & K X % WrEiE T & N
A E 0.00 ABTE 0.00
Bl m 17.20 3.20 27.52 Bigrm 3.40 2.80 4.76
No. 62 No. 62
+8. 00 6.30 4.20 49. 35 +8. 00 1.00 4.20 9.24
Cirm 14.70 1.20 12. 60 Clsrm 2.90 1.20 2.34
DT mE 0.00 5.10 37.49 Digrm 0.00 2. 80 4.06
g 126.96 m3 B 20.40 m3
® & T8 #xxYL &35 KIE0. 30m

54. 31

20. 16

14.58

5.80

24.98

17.44

29. 41

m3

m2

m3

m2

m2

— MR EEA

BR

BRABILKERS




AMEEBERREE
B a T NERR RARAT R XA (B LA I B 3 1 )
HERS | FHEEE | BAIRS | 28 .2 K| FEHEE 20 km/h
£ K THOEE MEATER ER&R
52 ™ B oK i R 1 s &
M 1T e BRSER HFREHM HMAE FR HA
w R BI°R
BEEE ®EHE
MEES 19-11
65 BE KRR T1-1 E $=1:100 6 & HE K e 58 X $=1:100
(No. 60) 1P 38
No. 60
FH=477. 27
353 ) — hHEEE 15 i (X
5 8 GH-L-1 (b-R)
35a vy ) — hEEEE 45229 )— hHEEE
GH-L-1 (b-R) GH-L-1 (b-R)
8.00 m
3.42
58 FH=477. 07 | —
4 “::‘QQ — /
o
g s| B -
@ : 5 o DL=475. 00m FH=475. 27 o - 0.50 R 18
2| @ ya BA = 0.20
s 5 —
1350
/ :
S & - /
e} . ’% /
y 2o || Ky AN LA— FMEERER
No. 60 +15..00
1000 x 1000 $=1:20
2 1.26
0.13 | 1.00 o3
\ % +10.00 T T
+12.00 y . BC. 38
/ BOXA JL/3— b 1000 x 1000 (2. 00mx 5. 0&) L= 10.00 m / S \
\ / 0.15
K1 (CA) 0.50x5. 30 = 2.65 m3 8 8
\ (#1B)
65 BE KM T 1R L (BA) 0.20 x 5. 30 = 1.06 m3 \ / BEILZIL
BOXA1JL/X— k1000 x 1000 e o S 4
L=10. 00m © No. 50 | e
& | -
EC. 38 y = B _ 6.50 m E A\ Egaro)—+
No. 81 — (@27 =) (1.46-10. 00 x 6. 50) = 0.9 m o1 J 2 J o1
— o 1.46 N
— / 4822y ) — bR
\
T —— /
\
— . y o E B=1000 (10.00m=Z 1) )
\
% FR wm OE #Fo"7 A % B L -Rivi
i P 0.10x10.00x2 2.00 m2
v,
£ e o ck=18N/mm2 0.10x1.46x10.00 1.46 m3
avyl)—+
BELZIL 0.02x1.26x10.00 0. 252 m3
ERER 1.46x10.00 14. 60 m2
+10.00
—EHEEA BERBEALRERS




RMNEEERGEE
B ﬁ & EjLEBEFISE.’f:E4IIZ $ * 4 (BILaH i BiERfE)
HERXRSD | HMEEE WANES | 258 -2 | FREHEE 20 km/h
=3 & SHOEE MITER EREE
% W Bk B & K 2 1 &
W 1T EREE FEZH AT 2B K
i R 1:100
2BEZE R E
XmES 19-12
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